dFailh Hee (FeX faae) - 9g §. 1427
TECHNICAL ASSISTANT (COMPUTER SCIENCE) — POST NO.1427

1. C++ granfHer swr & cout T ... gl
In C++ programming language, cout is a

A. ¥sr/Function
B. q@uRenf¥a a&q/Predefined object
C. ga=/Pointer

D. 3w & & us # =gi/None of the above

2. KRPCSTJMNYW%W@lOW*WWWﬁWﬁH
| HECST & WA g gaeawor Y h(x) = (ord(x)-ord(‘B’)+1) mod 10aur
@S AT FT ITART FA §T HAA GATTIOT TROM gl
(ordgerrd, 3medgFHe HASCI A & Reet T §, 380 ord(‘4’)=65)

Insert the characters of the string KR P CS TJM N Y into a hash table of size 10.
Using the hash functionh(x) = (ord(x)-ord(‘B’)+1) mod 10, and linear probing to
resolve collisions, the final hash table is

(ord function returns ASCII value of the argument, for example: ord(‘A’)=65)

KRPCSTIMNY
B.KPRSCTNYMJ
PSCKTYNCJIM
KJCMNPYRST

o o w >

3. C++AfhE HReX &l NAAIS =Tal fhdT ST ThdT?
In C++, the operator that cannot be overloaded is
A +
B. <
C. &&
D. =



4. frdr gfaersl 3edwor &1 1 qashdl qUmAA 22,9, 8, 1, 6, 19, 18, 17,20,23, 29, 331 o
SH & FT ITHAT TUBHA oo gl

The pre-order traversal of a binary search tree is 22, 9, 8, 1, 6, 19, 18, 17, 20, 23, 29, 33.
Then the post order traversal of this tree is

A.  1,6,8,9,17,18,19,22,23,29,33,20
B. 1,6,817,9,22,23,18,19,33,29,20
C. 6,1,8,20,18,17,19,9,29,22,33,22
D. 6,1,8,17,18,20,19,9,33,29,23,22

5. C++# f9aT [y TadT W & TP Fkeadel Pl o Fed & |
In C++, a constructor without any arguments is called a

A. FAT Fregaex/Copy constructor

B. urafeid se-fcael/Parameterised constructor

C. f3wlee sergeet/Default constructor

D. 3uded # & s 37 =Ei/None of the above

6. FUATFER EARI, Y Hicl & UISec W el IS & HIUr arT Ifaeuifd fhw Jreiarer
fRelt TR AT &g &

A function that is substituted by acopy of its code at the point of function call, by the
compiler is

A. %s waera/Friend function
B. saemssr warrret/Inline function
C. Fara/Class

D. g=da %ee/Virtual function



7. C++3H, I=del BFUT ..ooovvevee T T 31807 gl
In C++,Virtual function is an example of

A. B 3aetsar/Function overloading

B. 3JHIYUT el ag%?ﬁl?lT/Compile time polymorphism
C. 3ex 3faxaitaar/Operator overloading

D. fIsurge el W/Runtime polymorphism

8. fFAaf@d #Is gaRT Fferad AT TEHNRLH HI TgdTT]|

Identify the sorting algorithm implemented by the following code:
void f(int x[], int n)

Int i,j,temp;
for(i=0; i<n; i++)

for(j=0; j<(n-i-1); j++)

if (x[i] > x[i+1])

{
temp = x[j];
X[l =x[+1];
X[j+1] = temp;

}

}
A. gd emes1/Quick sort
B. §cde 2mes1/Bubble sort
C. &9 emest/Heap sort

D. 3udad & & us #f =gi/None of the above



9. IiE xTHETIST T AT AT g 3R 3R b AT X § o qoeT I . gl

If X is the measured value of a parameter and its exact value is x, then the relative
error is:

A. ¥ — x&1 fax9eT A9/Absolute value of ¥ — x

&

B, X=X

X

=

c. =

x

X-x

D. & foR9eT AE/Absolute value of xx;x

X

10. Ff& A, sgcshe & gabd A N x N & g9 Afgorq § o feafaf@a & 4 &l ar arerd
&7

If A is a nxn square matrix having an inverse, which of the following is false:

A. A & T T H had Yo HiG FATGA &1 Heball §

Null space of A can contain only the zero vector.

B. A &&dst T &7 fTdAT n g/Column space of A has dimension n.

C. A#FT@ssIa3mAduiFaagasdie/A can have linearly dependent rows.
D. 3w # & us #f gi/None of the above.

11. fOeFRT TF e & fhdy 91T & g4 gHAT 88 T & UIed aiar g1 Ifg g8 e &
IR0, 1¢ 3R @ & N9 a1 /g foFar Jar & ar & X g8 fgusy & wilkesar

In a coin tossing experiment, we always get a head or tail. If probability of occurrence
of heads is 0.1, and a coin is tossed 3 times, then the probability that heads shows 2
times is

A. 3x(0.1)2%0.9

B. 3x0.1x(0.9)2

C. (0.1)2%0.9

D. 39d&d # & s & wigi/None of the above



12. &1 53& Udl ol & fau fordy gfaemsh 3eawor & &1 39er fRar Srar gl
fFrfaf@a & & &l & 3AvoT 3ghA Tea TAH 87
A binary search tree is used to locate the number 53. Which of the following probe
sequences are NOT possible

. 27,87,37,76,28,53
i.  12,13,60,50,70,53
ii.  20,75,41,58,47,53
iv. 71,62,24,27,50,53

A

B. i, iii

C.ii, iv

D. i, ii

13. §&ar AfHA 3,2,1,4,5,6,7,16,15,14,13W faur Hifsw) AVL & & cfagu=r qur
Tehol HUTGAT T HEAT HHU: .o gl

Consider the sequence of numbers3,2,1,4,5,6,7,16,15,14,13. The number of double
rotations and single rotations in AVL tree respectively are

A. 03
B.2,5
C.44
D.23

14, 5@ 1+ S+ 4+ @ AT gl
The sum of the series 1 + % + % + i + .-
A. 1adur 2% &= gsar g/Lies between 1 and 2
B. e® s&R g/is equal to e
C. 23aur es &g gzar g/lies between 2 and e

D. 3udad & & us #f =gi/None of the above



15.?1%A=[; g]%muﬁw@mmﬂyﬁmm%
IfA= B g] and if an arbitrary value y is given.

A. x & IRTIT Fh ST AT HT 9T y & SRR HAT ST ThTl &

Sum of eigen values can be made equal to y by varying x.

B. x # uRadel ¥ 3N Al HT AUAGS y & SR AT ST Fhell §
Product of eigen values can be made equal to y by varying x.

C. a dur b &=t |@gr g/Both a and b are true

D. 35 & & us o |Er w161 8/None of the above are true

__[cos@ —sin@ . : _
16.aﬁA_[Sin9 Cosg]aﬂry,xm2x1$a’rq——cramﬁar§amy_/1x%#r

yTy& IR & i ar a@gr &7

__[cos8 —sin@
itA = [sinH cos 8
then which is true of yTy

] and y,x are two column vectors of size 2x1, and y = Ax,

A. yTy, 6 Iaury SAER3TACGE/y Ty depends on 6 as well as values of y
B. yTy,aery AR3AGe/y Ty depends only on values of y

C. y"y, a0 SaAER3ntTe/y "y depends only on values of 6

D. 3uded # ¥ s 37 =Ei/None of the above

17. AR g ar sfdeafda 6 -3-4* 61— 21 Feaihs 4981
The expression 6 —3 -4 * 6 — 1 — 2 will evaluate to 49 if

A. —aiH "gad § AR <@ —F FW AT §

— is left associative and * has precedence over —
B. —cfaior Aged § 3R A *& I qdar §

— is right associative and — has precedence over *
C. —gfaror agad § 3 *& —F IR qdar &

— is right associative and * has precedence over —
D. —ard dgad § 3 —H *& FW q&ar g

— is left associative and — has precedence over *



18.afX A, BFH nxn & @ dRFw & 3R § 4B = [ Hfaf@a § & F7 @ a8 &2
If A, B are n x nsquare matrices, and AB = I, where | is identity matrix, which among
the following is true:

A. det(A) =0
B. S 8T & frdet(B)gder ——a

det(4)

1
det(A)

C. B & foU 3% &1 g "l &

det(B) need not always be

There can be multiple solutions to B
D. 3uded & & us # =gi/None of the above

19. teamRezHd A & FETeadd &1 IHT 10 n°ms § dur B & fov ag 1000 n?ms g, ST&r

n @9 WOl &1 " & FEfa@a # 4§ i ar @@ &

The time of execution of algorithm A is 10n3seconds and that for B is 1000n?2
seconds, where n is the size of input array. Which of the following is true:

A. TemReda A gA2T TeaiR2A B 4 a9 &

Algorithm A is always faster than algorithm B
B. faer @sen > 100 & foT Teanied B 31f9+ a1 §

Algorithm B is faster for input size n > 100
C. 3 d5en > 100 & fov TemRzd A 3% dF ¢

Algorithm A is faster for input size n > 100
D. TemXzH B gAAT TeMRZHA A ¥ O &

Algorithm B is always faster than algorithm A



20. frafaf@d # & &l a1 7Ted g7
Which of the following is false:

A. eRIEA Holel 9T aREdT €9 & ST Tl §
Recursive function stores its variable in heap.
B. Yeiradie ol fafd 3ifRvarg &1 SROT &7 Hehdl §

Recursive function can cause stack overflow.

C. YR YoRrdcie & HH THIA &1 3T Fdl §

Iteration uses less memory than recursion
D. 3uded # & v o =gl
None of the above.

21. TRl gfa-3memT @5 &1 §fAT gt 581 Weileai@d # & il &1 w7
Hamming distance of a binary code is 5. Which of the following is true:

A. Tg 59e &1 JfeaT deh @1 T S Fehell 8, oAfchet foeel Jfeat 1 Sieh w7gh T
FehdT/It can detect upto 5 bit errors, but cannot correct any errors

B. Ig 4f9c Iedl deh T IAT o9 Hehcl g 3R b I Fehalle
It can detect and correct upto 4 bit errors

C. ¥g 4f9T FfeAt T T 9T o9 Fehal & 3R 20 Jfedl dw S X Fehdle
It can detect upto 4 bit errors and correct upto 2 bit errors.

D. 7§ 4f9e qfeat I &1 g1 &9 Fehdl & IR 3f9e qfedl o & FT Fhde

It can detect upto 4 bit errors and correct upto 3 bit errors.



22. g7 AT (5)FT 3UANT Foh TAFATATET T &I Dlel [haAT ST & ar printf HUsT Hr

Freade fhdstl IR fRar Sreem?
If the following function is called using sum(5), how many times will the printf
statement be executed:

intfunc(int n)

{
if(n==0)
return O;
printf("%d\n",n*n);
return (func(n-1) + n*n);
}

A. T&h dR/1 time
B. 9= IR/5 times
C. IR dR/4 times

D. 35 & & T & w7gi/None of the above

23../(229), = (13),f&ar ar=r § @ SErar AT . gl
Given /(229), = (13), , the value of the base r is

A 4
B. 6
C.5
D. 8



24. ak(m,n)sfaT fFFfaf@d g #is R faar Hifaw|

Consider the following recursive code for ak(m,n)

Int ak(m,n)
{
if (m ==0) then

return (n + 1)
else if (n==0) then
return (ak(m-1,1))
else
return (ak(m-1,ak(m,n-1)))

ky

9 38 FI13 & ak(1,1) F a1 3fcrRd fRar Jrar § a9 fRes arer A e
gl

The value returned when the code is invoked with ak(1,1) is

o0 ®»

5
3
4
2

25. g7 int 89 & a1sel &M § al HAeAfaf@d s & 3M3eYe & el T
If int type is of two bytes, find the output of the code given below

#include<stdio.h>

int main()

{
inta[]={1,2,3,4,5};
int*ptr;
ptr = a;
printf(" %d ", *(ptr + 1) );
return 0;

10



26. AFATATATHIS & M3CYE HT Il MU
Find output of the code given below

#include<stdio.h>

int main()

t
inta=>5;
int*ptr ;
ptr = &a;

*ptr = *ptr * 3;
printf("%d", a);
return O;

}

A. 15

B. 13

C. 14

D. 12

27. &1l AT &% Felle & 4arge §| Fafaf@d #is & 3m3eqe &1 gar o@n|
Assume that float has 4 bytes, Find output of the code given below :

#include <stdio.h>
int main()

{
floatx[5] = {212.5, 210.0, 50.5, 1.5, 0.5};

float*ptrl = &x[0];
float*ptr2 = ptrl + 3;

printf("%f "', *ptr2);
printf("%d", ptr2 - ptrl);

return O;

}

A 505 2
B. 210.0 2
C.153
D.05 3

11



28. fAeITaf@d @15 & 313CYe & Il o@mT|
Find output of the code given below

#include <stdio.h>

int main(void)

{
inti;
for(inti=0;i<3;i++)
{
switch(i)
{
case 0: printf("a");
case 1. printf("b");
default: printf("c");break;
}
}
}
A. abcbcc
B. abc
C. abcce
D. abacbc

12



29.

30.

A& g & 313EYe I Il o@mT|

Find output of the code given below
#include<stdio.h>
void func(int* p, int*q)

int main()

{

Inti=0,j=1;
func(&i, &j);
printf(*%d,%d", i, j);
return O;

¥

A 01
B. 0,2
C. 2,0
D. 2,1

AT @ I3 & 3H13EYe & Il of@nT|

Find output of the code given below
#include <stdio.h>
intmain()

{
Intarr[] ={1, 2, 3, 4, 5};
int*p = arr;
++*p;
p+=3;
printf("%d", *p);
return0;

¥

A1
B.4
C.5
D.3

13



31. & NSIT T quiieh SeT TT89 & Wigeidrse gl feiai@d @IS & 3M3eYe & 9ol
AT
Assume size of integer data type is 4 bytes,Find output of the code given below
#include <stdio.h>
void func(char*¥*);
intmain()

{
char*argv[] = { "sa", "ri", "ga", "ma", "pa", "da"};
func(argv);
returno;

}

voidfunc(char**p)

{

char*t;
t = (p += sizeof(int))[-1];
printf("%s", t);

A.sa
B. ri

C.ga
D. ma

32. UIEUAEA WA & e, ... $r Fufa & gsniaa gar g, afe

Performance of a pipeline processor suffers if

A. dgYes Toof # fafdiest faeie gdar 8/The pipelines stages have different delays

B. AT 3Ieel Teh GEY W AT gl &
Consecutive instructions are dependent on each other

C. UTSUASs TSl gTeaddX HATETT ATST X &/Pipelines stages share hardware resources

D. 3uded @efi/All the above

14



33. =ff@a e arohl W foar fifew, FEd 3HEaT AT JUT 9E&hle gd g

34.

Feidss 7 feu arv g
Consider the following process table with the arrival time and burst time given in
milliseconds
UshH AT IEHAA AT | IEFPIC THT
Process Time | Arrival Time | Burst Time
P1 0 7
P2 1 4
P3 2 9
P4 3 5

i RFAEIR SIF (Fe BT FF Ige)) & 3eq0reled fhar S & ar 3iad geliam

If non preemptive SJF(Shortest Job First) is followed, the average waiting time is

AT
B.6.25
C.7.75
D.75

i gea 1009 3aat & A1 fRdr AieT s yomell # wrdiead fhdr faQdy s
& FGOT EaRT S Tl 3Hefohe =TaR AT &

100, 200, 430, 499, 510, 530, 560, 120, 220, 240, 260, 320, 370

IR TAIT Pk AT A Teh Y6 AL, dl J56 HAT (Plec) HT FEAT ... gl

The address sequence generated by tracing a particular program executing in a
demand paging system with 100 address elements per page is recorded as follows
100,200,430,499,510,530,560,120,220,240,260,320,370

The number of page faults assuming only one page with initial memory freeis

A. 6

B. 7

C.8

D. 9

15



35. fafelst W seiiehl & AT 1/0 & e dfgd vs f$Eh g W faur fifaw|
98,183,37,122,14,124,65,67
3 @Aaee & fav JgaA AAURT Fd 9UH TeaReA (THeEdush) W faar

Hifoiw| afe IR iy Pufa 53w & ar f@fest & gor MY arel . gl
Consider a disk queue with request for I/O to blocks on cylinders

98,183,37,122,14,124,65,67
Consider the shortest seek time first algorithm (SSTF) for disk scheduling.If the initial
head position is at 53, the total head movement in cylinders is
A. 640
B. 236
C. 208

D. 450

16



36. fAetTaif@d arolt & 99 | & ST veaReat & oresd qur o7 anfde § 3R g
|| & faete veanRear enfder g

In the following table Group | contains properties and attributes of scheduling
algorithms and Group Il contains scheduling algorithms

q/Group | q/Group |1

o

P.  UshdAl & 3ERA qUT gesfd S aHfes Aalsr1/Gang scheduling
Aforar &l/Processes has categories | b. 9§ ¥adF 9iFd farsta/Multi

like foreground and background level queue scheduling
Q. UHA 3JYAT FHI-HAT A HIYUT | ¢. IC AAlCias =diei-/Rate

d g IR ukA dERE  AGT monotonic scheduling
#|/Processes announce its deadline | - siferaee ga-dier yua e

and processes are not periodic Earliest deadline first scheduling
R. UsaAl & Ha¥ AATAar dar amgs i
g1/Processes have producer

consumer relationship
S. UHA YA FAI-HAT Hr gwon

Wd & IR uHH  HERw
&1/Processes announce its deadline
and processes are periodic

P.QR,S & T FATA FHM: oo J
The matches for P,Q,R,S respectively are

A. ab,cd

B. b,da,c

C. d,ab,c

D. c,d,b,a

17



37. TGS & & A T Y5 Yol HT Teh ol 76T g7
Which one of the following is not an advantage of thread pool?

a) I5 I & T W g I3 f Rl qar wrafddar w HHEer war ¢

With thread pool, we have control over the state and priority of the thread

b) faegar= ¥5 & @ el Y o1 WA HT U5 A Gioe g TeT v
CERY

Servicing a request with an existing thread is faster than waiting to create a thread
c) frdr Tk g oX Tgotarer ISt fT FEAr I3 g WAT Far §

Thread pool limits the number of threads that exists at any one point

d) 95 T gite qur faamer exegs @9 fhar g

Thread creation and destruction overhead is negated

A. adArF/only
B.a&b

C.b&d
D.a&d

38. fArfaf@d Ffd §7 X faar R
Job1 =50, FREE = 150, Job2 = 300, Free = 350, Job3 = 600
1A S T 39T X § ar 300, 25, 125,50 A5 & scllehl & eI

3ThA I QU fHRAT ST T §

Consider the following memory heap
Jobl =50, FREE = 150, Job2 = 300, Free = 350, Job3 = 600
The sequence of request for blocks of sizes 300, 25, 125,50 can be satisfied if we use

A. I1 ar 9eX fihe a1 |afaa fise sfifa/Either worst fit or best fit policy
B. sca¥ fire, ifeha @afasr e agi/Worst fit but not best fit

C. gafad ke, aifdhet dgax fhe agi/Best fit but not worst fit

D. 3uded # ¥ s 87 =Ei/None of the above

18



39. fRdlY 49 de-wETd HU T I, gt &TAdr 16 KB &, &1 ATOT 82rsal & sclleh
AT & IUANRT Feh fhaT T g1 Ueg HI dars 32 foe R1sifas gar s &

asa4 GB g1 gfafes &7 & foet & & ... gl

A 4 way set-associative cache memory unit with a capacity of 16 KB is built usinga
block size of 8 words. The word length is 32 bits. The size of the physical address
space is 4 GB. The number of bits for the tag field is

A. 20
B. 18
C.19
D.21

40. TF ........... & T ggeFd =€t FhT ST Fehel |
Stacks cannot be used to

A. arecihed Ofd # aifoifaa iffcafea 1 Hedrned wte

Evaluate an arithmetic expression in postfix form

B. YeRracisiehl ST &ei/Implement recursion
C. fer s sifercafda # 359 dAdey Meihad AT & TAQeT AT
Ifa & aRafda &=

Convert a given arithmetic expression in infix form to its equivalent postfix form
D. Y=ITelsl YTl garT HIdy REd verel e

Allocate CPU resource by operating system

41. v g o U foree 3l A3 & fodll A Y Ssa & faw........

FIIHCIdT AMMAA gl
In a circular linked list organisation, insertion of an item in the list involves update of

a. ®Is Tieex dal/No pointer
b. 1YI$eR/pointer
c. 2d4isel/pointers

d. 3 dige/pointers

19



42. ¢ T Acah H n GFadl AMAA § TUT Fcdeh JiFd H dhael & ARV Sigad & fow
n-1ME gar gg Hia-dr e &7

In which topology, if there are n devices in a network each device has n-1 ports for
connecting through cables

a. A/Mesh
b. T&RX/Star
c. &d/Bus

d. R@1/Ring

43. T GIEER A 32f9e s SRt & @Y 32f4C HMihede| 38H 32¥oreeN g, foletdd
¥ g 32f9¢ ofaT g1 3/ 56 efeRil 1 FHSA e g, oefeh ar  Woreex Hhrdl &
HIAREFT Teohlel FHR g1 A NSV & Teehrel HPRT Teh IEARTRG qUiteh g1

A processor has 32bit architecture with 32 bit word instructions. It has 32 registersof
each 32 bits long. It need to support 56 instructions, which have immediate operand in
addition to two register operands. Assume that the immediate operand is an unsigned
integer, the maximum value of immediate operand is

A. 65536

B. 32768

C. 65535

D. 32767

44. T geleawor RO H & 25%dic g1 g 24003@ydl & AT & g1 H &1 o)

IO ..o gram|
A hash table H with 25 slots that maps 2400 elements has the load factor

A. 80
B. 96
C. 64
D. 48

20



45.

46.

AiFedaR qdefor # 1209fedl &1 SoRIua $EA &7 & fhar a@r ar| odefor ad
A 1749 &1 aeEe far o S @ 90emsiad Jfear ot A S &
aedfds aur SIS Qe Jfedr wAe yeR A § 3R S faawer @At g1 ar
39 diedIR A IrEgfaa Al B efad HEAT g

In software testing, 120 errors were seeded artificially. While testing, 174 errors were
detected, of which, 90 were seeded errors. Assume that both real and seeded errors are
of similar type and have same distribution, then the estimated number of undetected
errors in the software is

A. 48
B. 38

C. 28
D. 60

M1der M2+ATHe |IFCdqR Alsgel H HAW: NITAT N2+ATHS Hehehd &I AISTFailAes
Jfeerdr §Ead | S§ 3v% HJhHiAh &9 @ HACKGD fRAT SAr &, o Hae
AsFarACd AFAN & ................ RE

The software modules M1 and M2 have the McCabe’s cyclomaticcomplexity
numbers N1 and N2 respectively. When they are integrated sequentially, the net
cyclomaticcomplex number is

A. N1+N2

B. N1xN2

C. N1+N2+1
D. N1+N2-1

21



47.

48.

el WEX Aol W A0 wd q9T fauR U S if@estor Sefafad
gl

The following are the characteristics considered while deciding a processor
architecture

i, S 8 {SE 9% AodT e A
Register to register arithmetic operations only.
i . fogd wer$ 3rgeer grd/Fixed length instruction format.

iii. gréarReey fAg=ur gfae/Hardwired control unit
iv. gRadl ofem$ 3refeer wrwd/Variable length instruction format

RISC 9IAER &1 HfWehedal # 3udad & & did & IARTOT Iqugercd fhT STt 87
Which of the above characteristics are applied in the design of RISC processor?

A. iandiionly
B. i, iiandiv
C. i,iiandiii
D. i,iiandiv

el RISC WX & 36E UISUess & fAeAfai@d ToT gld &, S 3iejeer %,
3eICer SIS, Hh B, FaTel fAsules 3R Use S| e fAsues wROT &
oIg drhl Il TUT el 1Fclleh WShel od &l ST 150 eqeRil &7 @IS W
Srdiiead fhar SIar § a9 weielel fAsdieel TRoT # 60 3608 3 Folleh Hgehel od &,
50 e 2 Folleh WISthel ofd § 3R AW Iefeerlacier Wsshel ofd g1 el &
3eohd T it & AT 39TaTT Sholleh ATSehell T ol FET .o gl

The instruction pipeline in a RISC processor has the following stages, such as
Instruction Fetch, Instruction Decode, Operand Fetch, Perform Operation and Write
Back. All stages take only 1 clock cycle except Perform Operation stage. When a
program of 150 instructions is executed, in Perform Operation stage 60 instructions
take 3 clock cycles, 50 instructions take 2 clock cycles and the remaining instructions
take 1 clock cycle. Total number of clock cycles required for the completion of the
sequence of instructions is

A. 644
B. 320
C. 324
D. 524

22



49. TRET JIaTH & ITHINOT & SR ifafld & & @l a1 #r fohar =g siran
Which one of the following is not performed during the compilation of a program ?

A. "&R Sra/Type checking
B. ag @« Sird/Syntax checking
C. drfds Tfa faads1/Dynamic memory allocation

D. gciier ARl geersi/Symbol table management

50. fanell URL WX 9aer &l 8T TR € 403 ..o @ giada a8l
On accessing an URL, Server error 403 indicates

A. diid/3isTATa gie/Forbidden/Permission error
B. fadwe & @ wr 31au/Path to interpreter is invalid
C. 3ferd wiger 3uf¥ya wigl/Requested File not present

D. 313% HTTP gs¥/Invalid HTTP header

51. 318 ST TAT Tk EART FT 3UAT F U Toh Q7 Aot T Ffead fhar S &l
ARl & fav efaf@d deror faesl & @y @7 997 S 3m3eye & fav, fav v
AT T IdT ST
texor =40 ns tano=10ns &tor=5ns
A full adder is implemented using Half adder and logic gates, Find the time taken to
produce sum and carry outputs with the following propagation delays for the gates.
texor =40 ns tanp=10ns &tor =5ns

A. 80 ns, 50 ns
B. 40 ns, 55ns
C.80ns, 55 ns

D. 40 ns, 45 ns
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52.

53.

54.

o hTgeT el H 3T ST YT e 61 T 39T fahar Sirdr g2
Separate data and instruction buses are used in which computer architecture?

A. @i =gHeT areererr/von Neumann Architecture
B. graTs areqeherr/Harvard Architecture
C. A&B @@t #/Inboth A& B

D. AT 9shAUT YuTrell/Parallel Processing System

HIH ERON gl Wgec fhU T AT AT AAS (3MSTHIN) T oo
YER ¥ WA FF HURTA HS Wy frelty e & Boear §

A CPU generally handles an interrupt by branching to the Interrupt Service
Routine (ISR) pointed by interrupt table

A. F$ 3YATEA SaRT AHRTA 38T &

as soon as an interrupt is raised by a peripheral.

B. @87 & fAIfAd eIl WX FRTT AT & Jd Hieh

by checking the interrupt register at regular intervals of time

C. TdAT T TShd & Jd H I e i T ah

by checking the interrupt register at the end of the current fetch cycle

D. AN 3e]e?l Hrdleadsl @ Gicd & g gl Aoy & S e

by checking the interrupt register after completing the current instruction

execution.

AT T T NI IgaTeT e B

The interrupt servicing mechanism in which the interrupt requesting device
identifies itself to the processor is

A. sw#aaxer faffr/Polling mode
B. wfefara 3iarrasi/Vectored Interrupts
C. =ifsa 3iarm=1/Nested Interrupts

D. 3uded @efi/All the above
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55.

56.

S7.

Tl Teh qoTTell T gt 8 128K X 8 RAM & el fadi &1 3mraegehar g, foraehr
T &TAaT 16f9e o 2M 2usal # gl

How many128K X 8 RAM chips are needed to realise a system with memory
capacity of 2M words of 16bit long.

A. 128
B. 64
C. 16
D. 32

HANT T Sollehl I HAL HA sellept A glAfRBET wa & @R @

The method of mapping the consecutive memory blocks to consecutive cache
blocks is called

A. Fgi/Associative

B. dc @rgad/Set Associative
C. Ycgei/Direct

D. 3mgczet/Indirect

LRU & R & argad 9fafRFur & Ue AU sdies & Ugarer T § 3R 3@
13T “0” WM T & 3R I BIaT & a9 3 |l # Teh I gefer
ST gl

In associative mapping during LRU, a new block is identified and its counter is set
to “0” and all the others are incremented by one when .................... happens.

A. T3C/Write

B. fge/Hit

C. f[aeifaa fge/Delayed Hit
D. fAEa/Miss
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58. faeATali@d & & whier 3meE AT 3MAlsT & Hefta 87
Which of the following is related to Virtual memory organization?

A. g5 dRvil/Page Table
B. &iwarEl/TLB
C. 7fa geiereT giie/Memory Management Unit

D. 39 @#fi/All of the above

59. g HAHWOT (A+B+C)(D+E)’ + (A+B+C)(D+E) & e Hfawl @,
HIFCTHAC T FAT AT &, o IROMH ... gram|

Simplify the Boolean equation (A+B+C)(D+E)’ + (A+B+C)(D+E) where °’
indicates complement then the result will be

A A+B+C
B D+E
C. A’B’C
D D’FE’

60. @i &1 a% gE Arfaf@a oy & w82
Which logic function corresponds to the following circuit

S2
51 sS4

S3

A. (SlorS2)and (S3orS4)
B. S1or(S2and S3) or S4

C. (S1and S2)or (S3 and S4)
D. S1 and (S2 or S3) and S4
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61. ﬁmﬁ@awﬁﬁﬁﬁﬁwwﬁwwwmg,%maﬁgu

62.

fo 30 %A & saI9C qHA 5,6,7,8,9 8, Ired T ST Fehell 872
Which of the following permutations can be obtained in the same order using a stack
assuming that the input is the sequence 5,6,7,8,9 in that order

i. 7,8,96,5
ii. 596,78
iii. 9,8,7,5,6
iv. 7,6,9,8,5

A. iandiv

B. iiand iii

C. iiiand iv

D. iiandiv

frer Fdfadeacy wraeR #, 39 fufa & Senpiuisa & v ser 3nh aF 399 &
T R FAETE, T 331807 &l

In a pipelined processor the situation in which the data for the operands are not yet
ready for use, is an example of

A.3TT salishol/Data Blockage
B.2eT golrs/Data Hazard
C.3sdie/Deadlock

D.T3™ATcHAS golts/Structural Hazard
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63. SSL Es9% & $© T oA fRw v §
Given below are the some of the steps of the SSL handshake

Fellgec ol Taadsl Adsr/Client key exchange message
Farsee gall/Client Hello

O Fr Temds Adst/Server key exchange message
v ga/Server Hello

oo o

The order in which the handshake happens is

A. db,c,a
B. ac,b,d
C. bd,ac
D. b,d,c,a

64. AT ANFT N ST & T T HT g Tk, FHAT Foll IGTeIEl FoTell 1 3TANT
A g N-1 & Ty Iod § & 910 FEAT qeam g1 el & cafdaqar & sra &
Sl 0 & 3T AfFddl garT fahifsd =gl fohar S =nfge| agehgar v sa
39T AT 9l & 39 R WA # fohder Hiorar nafera €2
Suppose everyone in a group of N people wants to communicate secretly with N-1
using symmetric key cryptographic system. The communication between any two

persons should not be decodable by the others in the group. The number of keys
required in the system as a whole to satisfy the confidentiality requirement is

A. N(N-1)
B. 2N-1

C. N(N-1)/2
D. (N-1)2
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65. TArIfaf@a &1 e HifeT
Match the following

1. TETHSH/SMTP P. Ser foi oat/Data Link Layer
2. Uiesheelsd/Encryption Q. g e/ Transport Layer
3. ggrdq/UDP R. uitershers orax/Application Layer
4. drdrdy/PPP S. 98=ere oiI/Presentation Layer
1,2,3,4 &1 TR & FH oo gl
The matching order for 1,2,3,4 is

A. QP RS

B. R,S,Q,P

C. Q,RP,S

D. SRP,Q

66. #ALT NST, gAR I foReaad @A dur Reell & &rw v 1fSeniesaae fos &
fSadr 33 fou ggita 30fAccidss & §164KB &1 AeTeh IR fawsr arssr
maﬁgu,mﬁaﬁmﬁ%ﬁaama:FWﬁwmmmw

Suppose we have a 1 Giggbit Ethernet link between Trivandrum and Delhi with a
round trip latency of 30 milliseconds. Assuming a standard TCP window size of
64KB, the best throughput (rounded off) that can be achieved in transferring a large
file by FTP is

A. 1 Gbps

B. 64 Mbps

C. 30 Mbps

D. 17 Mbps
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67.

68.

frdY weX 1 3regARTT Aol PEfatEe €
A router has the following routing table.

g kj| STy HNYsS
Destination Mask Interface
144.16.0.0 255.255.0.0 Eth 0

144.16.64.0 255.255.224.0 Eth 1
144.16.68.0 255.255.255.0 Eth 2
144.16.68.64 255.255.255.254 | Eth3

IcFed T 144.16.68.117 T dgl IR g Py Yhe T W ;T &l 38 A
HRYSS # AN fhT STeT T FHIE=T Bl
A packet bearing the destination address 144.16.68.117 arrives at the router. On
which interface it is likely to be forwarded

A. Eth 2

B. Eth0

C. Eth3

D. Eth1

AT oNfew f& g4 2000 KB(K=1000, B=Byte) &I frdy wger sf 1 KB Uaet #
AT §1 10 Km Fr gff & 30 d@a d@=ror $r a1fd 2 x 10° km/sec g1 o5 v =isrs
1.6Mbits/sec (M=10%¢| 3T wEa & Al & for form IAarer AT Fhsr &

Suppose we want to send a file 2000 KB(K=1000, B=Byte) in1 KB packets. The
distance is 10 Km and signal propagation speed is 2 x 10° km/sec. The bandwidth is
1.6Mbits/sec (M=10°). The time taken to send the file in seconds is

A. 10.

B. 5.33338

C. 10.00005

D. 2.00005
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69. TCP Hepolel (AT TeINRLA & Heholel U ol H Hepolel STToleh I HISS

In the congestion avoidance phase of the TCP congestion control algorithm, the size
of the congestion window

A. gfaardr ®9 # sgdr g/Increases quadratically
B. §gdr =igi/Does not increase
C. 9d& RTT & dIg 1d% Sedr g/Increases by 1 after each RTT

D. "ear g/Decreases

70. ffaf@a Tolt 3ragal X AR $1ee4,1,3,2,16,9,10,14,8,7. 87 TRON 3fauai &r
T A9 & & F qRafda Fa & 0T 3Eeds ool H FEAT e, gl

Consider the following array elements 4,1,3,2,16,9,10,14,8,7. The number of
interchanges that are necessary to convert the array elements into a max-heap is

A.6
B.7
C.5
D.8

71, 3rer e w&R A A ggEer @UREAr EaRT 9Ted &1 ST Fehell g
Error detection at the data link level is typically achieved by

A. 9T TH/BIt stuffing
B. dsfdae ¥8=s=ar &is/Cyclic redundancy codes
C. & *Is/Hamming Codes

D. XORI&TA/XOR checksum
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72. TAEIfaf@a &1 FAde fifaw)
Match the following

P. fAvIad fadeT aF & T UFF &1 TealiRern
Prims’s algorithm for minimal spanning tree
Q. WAYIH gdA 9¥ & fAU welgs-ardie veanfen
Floyd-Warshal algorithm for all pair shortest path
R. T amesA/Merge Sort
S. efAecf@gsr akga/Hamiltonian Circuit
3ad/to
|. 9= 3eJAETOr/Backtracking
Il. 3 [af/Greedy Method
. arfaes grenfdAs/Dynamic Programming
IV. f3ar8s g sl=h/Divide and Conquer
fFrfaf@a & & i a1 guer 3R 2
The answer is which of the following
A. P-111,Q-11,R-1V,S-1
B P-11,Q-111,R-IV,S-I
C. P-1V,Q-11,R-1,S-111
D P-11,Q-111,R-1,5-1V

73. €Y R %1 €Y S& WY HiFAT W AR ffFvl afg RF m e 3RS & n

<l

g ar afFAeE! & s aur wgadH 1S FAT: e giar|

ConS|der the join of a relation R with a relation S. If R has m tuples and S has n

tuples

A

B
C.
D

then the maximum and minimum sizes of the joins respectively are

m+n,0

. mn0

m+n,1

.. mn,1
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R(ab,c) ar S(d.e,f) @I & @aer AT ofifSw o=t S &1 ®R Folt & d ST R &
sraffe Foft ¢ #1 deet & B
Let R(a,b,c) and S(d,e,f) be two relations in which d is the foreign key of S that
refers to the primary key c of R
gaTesl & fov Arafaf@a w TR fifsv
Consider the following four operations
1. R & zaa¢ &y/Insert into R
2. S ¥ f3fare &i/Delete from S
3. S & saa¢ Hy/Insert into S
4. R ¥ f3fae &¥/Delete from R
afaf@a & @ #id a1 IR g FéAcAs Thdr TR & Soodd FHT HRUT &
HehT g7
Which of the following can cause violation of referential integrity constraint above ?

A. 34
B. 24
C. 13
D. 23
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75. frAfaf@a oo W faar g, @ifed ... ‘Fra giad T &
Consider the following schema,underline indicates key

Sailors(sid: integer, sname: string, rating:integer, age:real)
Boats(bid:integer, bname:string,color:string)
Reserves(sid:integer, bid:integer,day:date)

geoT(@Eadl)/The query
Select S.sname from Sailors S, Reserves R, Boats B where
S.sid = R.sid and R.bid = B.bid and B.color = ‘red’
INTERSECT
The query Select S2.sname from Sailors S2, Reserves R2, Boats B2 where
S2.sid = R2.sid and R2.bid = B2.bid and B2.color = ‘green’

SH JeoT(@al) &1 T fATTT oo gl
The correct interpretation of the query is
A. aifaet & 17 fSegia o J2r &7 a9 3Rfag e §
Names of Sailors who had reserved both a red boat and a green boat

B. aAMfde & AT fSegisl Teh offel AT &4 919 3IRiad fhar &

Names of sailors who had reserved a red boat or a green boat
C. oifel & = SigT Fo wAlident o fF A7 & ol 19 IRMET fhar g, 38

A & gE Afds o gU A9 ARET fRar §

Names of sailors such that some sailor with this name has reserved a red boat

and another sailor with the same name has reserved a green boat
D. aifasi & a1 el ool airg IRfATT fam 8, o & ara o181 fopan

Names of sailors who had reserved a red boat but not a green boat
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76. i@ & & @led A1 IRER ST yolell H Gof:91fe o1 fohw ST Fehaiarell Ife r
HIROT g ThelT g7

Which of the following scenarios may lead to an irrecoverable error in the data
system ?

A. 3ufdsey gioleRe gaRT 38 I3 T S & a1 IS giotere fodl 3er Ag &
oI@sT FIAT g/A transaction writes a data item after it is read by uncommitted
transaction

B. 31ufdscy gioide ¢arT 38 5 fFU S & §g FIS giolerd Rt 3T Ag @
{'5 #ar g/A transaction reads a data item after it is read by uncommitted
transaction

C. frelt gfaeey gioterie gaRT 39 o@e fohT Sel & dIg HIS groterie fohdll 3eT
Ac o s Xar g/A transaction reads a data item after it is written by a

committed transaction
D. 3ufdecy gioiee gaRT 3HH o@d [hU el & §IG iy Cioidele fhal 3e1 #Ag

ar {3 FIar g/A transaction reads a data item after it is written by uncommitted

transaction
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77. aifgewl &7 GRON & fAFfaf@d s W faar fifew
Consider the following data in Sailors table

Sid sname Rating Age
22 sTef/Balu 7 45
29 Tg/Raghu 1 33
31 gr/Partha 8 55
32 3reite/Ashok 8 25
58 STIrEe/Jaison 10 35
64 FaeAT/Swapna 7 35
/1 geIid/Prasanth 10 25
74 ISrd/Renjith 9 25
85 3@eT/Amala 3 25
95 feig/Bindu 3 35
96 g&ter/Praseedha 3 25

geoT@Ead) & faw/For the query

Select S.ratingAvg(S.age) as avgage from Sailors S where

S.age>=18

Group by S.rating

Having 1 < (Select count(*) from Sailors S2 where S.rating = S2.rating)

aayg Ao ufeaat fir gwar
The number of rows returned is

A. @ S gy gfFaar/All rows in the table

B. 6
C. 4
D.5
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78. efaf@d @99 ) faarR Hifaw

79.

Consider the following relation
f@araT (Rve, garn, &1
Cinema(theatre,address,capacity)

SQL geoi(@ad) & IHd # HAeATi@d & & Hief &1 [&deheq 3aede grem?
Select P1.address from Cinema P1

Which of the following options will be needed at the end of SQL query
Select P1.address from Cinema P1

difer g Taifiew &TddT arer ATeX & 9d @el odr §
Such that it finds the addresses of theatre with maximum capacity

A. Where Pl.capacity >All(Select max(P2.capacity) from Cinema P2)
B. Where P1.capacity >= Any(Select P2.capacity from Cinema P2)

C. Where P1l.capacity >= All(Select P2.capacity from Cinema P2)

D. Where P1.capacity < Any(Select max(P2.capacity) from Cinema P2)

i@ georEd) w fTar fifsw

Consider the following query
Select E.empno from Employee E where E.age=25 and E.sal between 3000 and 5000

39 geol(EFa) & AU 9@ 3T gE& gram
The most appropriate index for the query will be

A. Unclustered B++ tree index on <age,sal>
B. Clustered B++ tree index on <sal,age>
C. Unclustered B++ tree index on <sal,age>

D. Clustered B++ tree index on <age,sal>
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80.

A AT & P, Q, R, S, T aesT fhw v 3rgshdr iGieTeht wias shaver: 20, 24, 30,
35,50 §1 TS SR &7 IHegshaAr B Ty faelfdd Fd §U 3¢ Tehel 3eIhA & T H
faaffa frar S 81 $sedd TediReA garT @8 S RUfd & 30 & & aXat
& T 3Maeash JerT3il I HEAT ............. gl

Suppose P, Q, R, S, T are sorted sequences having lengths 20, 24, 30, 35, 50
respectively. They are to be merged into a single sequence by merging together two

sequences at a time. The number of comparisons that will be needed in the worst
case by the optimal algorithm for doing this is

A. 358
B. 438
C. 568
D. 664

*khkhkhhikkkk
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